400 x 400x 13x 21

(SS400)
2

= 218.7 cm
x = 3,330 cm y = 1,120 cnm®
X = 66,600 cm’ y = 22,400 cn’
X = 17.5 cm y = 10.1 cm
= 0.40 m
= 2.0 x 10® KkN/m?
a 0 a 0 h
(m) (KN/m®) AN/m | aN/m®™ | (k)
1.000] 1 ] 0.0 J 1 2,800 2,800 1,000
2,000
5500 2 | 0.0 [ 1 5,600 5,600 3,000
4,000
1.250 | 18 | 0.0 | 1 | 50,400 | 50,400 5,000
6,000
1.750 | 3 | 0.0 | 1 8,400 8,400 7,000
8,000
7.900| 3 | 0.0 | 1 8,400 8,400 9,000
100
20.000( 4 | 0.0 | 1 | 11,200 | 11,200 200
300
8.300| 5 | 0.0 [ 1 [ 14,000 | 14,000 400
500
1.000 [ 50 [ 0.0 | 1 123 123 600
700
2.000| 20 | 0.0 | 1 456 456 800
900




Ki = Ky (_Br_)™
0.3
Ky kN/m®
Kio 30cm
kN/m*
0.3
By m
B, =\ D B
E -1
KN/m?
a -1
Eo a
EO KN/m? a
4 8
4 8
N E,=2800N I 2
D : m
4
B KD nH
4 E I
1
B
h(kN/m*) (m) hx B (n™)
1 1,000 1.000 1,000 0.166
2 3,000 5.500 16,500 0.218
3 5,000 1.250 6,250 0.248
4 7,000 1.750 12,250 0.269
5 9,000 7.900 71,100 0.287
6 200 20.000 4,000 0.111
7 400 8.300 3,320 0.132
8 600 1.000 600 0.146
9 800 2.000 1,600 0.157
48.700 116,620
H Tho X hx 116,620 5 oa08 i
s 48.700




4 h

Bx =
4 X
:\;/ o x 2% = 0.206 m*
4x 2.0 x 108 x 0.00066600
1~ 4.8 > = 48.700 "QUT
B x
3 3

= 14.563 m = 20.000 m

Bx  0.206



746.998 kN

4
= 1122.760 x 0.15 4 = 42.104 kN
= 5.000 m
= - gm B
2 1
pm B = V12 1 exp tant ——
2B 1 28
= 1.139
max = 42.104 x 5.000 x 1.139 = 239.782 kN m
1
B
1
5.000 —_— = 9.854 m

0.206



746.998 x 103
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400 x 400x 13x 21

(SS400)
2

= 218.7 cm
x = 3,330 cm y = 1,120 cnm®
X = 66,600 cm’ y = 22,400 cn’
X = 17.5 cm y = 10.1 cm
= 0.40 m
= 2.0 x 10® KkN/m?
a 0 a 0 h
(m) (KN/m®) AN/m | GN/m®™ | (k)
1.000] 1 ] 0.0 J 1 2,800 2,800 1,000
2,000
5500 2 | 0.0 [ 1 5,600 5,600 3,000
4,000
1.250 | 18 | 0.0 | 1 | 50,400 | 50,400 5,000
6,000
1.750 | 3 | 0.0 | 1 8,400 8,400 7,000
8,000
7.900| 3| 0.0 | 1 8,400 8,400 9,000
100
20.000( 4 | 0.0 | 1 | 11,200 | 11,200 200
300
8.300| 5 | 0.0 [ 1 [ 14,000 | 14,000 400
500
1.000 [ 50 [ 0.0 | 1 123 123 600
700
2.000| 20 | 0.0 | 1 456 456 800
900




Ki = Ky (_Br_)™
0.3
Ky kN/m®
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kN/m*
Ko = a Eo
0.3
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B, =\ D B
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KN/m?
a
Eo a
EO KN/m? a
4 8
4 8
N E,=2800N | 1 2
D : m
B KD (Y
4E I
1
B
h(kN/m*) (m) hx B (n™)
1 2,000 1.000 2,000 0.258
2 4,000 5.500 22,000 0.307
3 6,000 1.250 7,500 0.340
4 8,000 1.750 14,000 0.366
5 100 7.900 790 0.122
6 300 20.000 6,000 0.161
7 500 8.300 4,150 0.183
8 700 1.000 700 0.199
9 900 2.000 1,800 0.212
48.700 58,940
h h==2 Nx _ 5890 _ 450
> 48.700




4 h

By =
4 y
:\;/ e = 0.228 m*
4x 2.0 x 108 x 0.00022400
1 - 4386 S = 48.700 " ooUT ™
By
3 3

= 13.158 m = 20.000 m

By  0.228



746.998 kN

4
= 1122.760 x 0.15 4 = 42.104 kN
= 3.500 m
= Yo B
— 1
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1
= 3.500 ——— = 7.88 m
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746.998 x 103
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6
ob = | _166.070 < 107 _ 4 w/m?
y 1120000
k 788.6
= = 78.079 18 1k/ y 92
y 10.10
o cay = {140-0.82x (Ik/ y-18)}x 1.5 = 136 N/
2
o eay = 1,200,000/( k/ vy) = 197  N/mm®
obao = 210 N/mm’
ocC ob
o cay o bao 1-0c o eay
= 34 148 = 1.102 1.0
136 210 x (1 34 197 )
ouT
ob
gc
l-0 c o0 eax
= 34 148 = 213 N/mm? 210 N/mm?
(1 34 197 )
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